Selection pp — 88,8 — tty] | pp — 88,8 — qqX;
mg = 1500 GeV mg = 1000 GeV
m_o = 100 GeV m_o = 800 GeV

X1 X1
Njet > 4 99.96 £ 0.01 76.87 £ 0.14
Ht > 500 GeV 99.89 + 0.01 38.30+ 0.16
H™sS > 200 GeV 88.65 4 0.10 24464+ 0.14
=0 56.00 £ 0.15 2442+ 0.14
= 3521+ 0.15 2426+ 0.14
= 3446+t 0.15 2419+ 0.14
=0 33.50 £ 0.15 2400+ 0.14
= 31.57 = 0.14 2326+ 0.14
Appymiss ;. > 0.5,0.5,0.3,0.3 2396 £ 0.13 17.66 = 0.12
Npjet =0 0.77 £ 0.03 13.80 £+ 0.11
Np et = 1 3.95+ 0.06 328+ 0.06
Npjet = 2 7.77 £ 0.08 0.53+ 0.02
Npjet > 3 11.47 = 0.10 0.05+ 0.01




